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Remember, there are no right or wrong answers as we’re guessing about the situation and the 
relationship between the speakers. You might have filled in the grid like this: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
A. “Could you tell me how to get to the nearest post office please?” 
B. “More tea?” 
C. “You can’t go out in that!” 
D. “Thank you so much for all your assistance.” 
E. “It’s been a pleasure to meet you.” 
F. “Lend us a tenner ‘til tomorrow.” 
G. “Where’s my coat?” 
H. “Would you be interested in taking part in a competition? “ 
I. “I would like to make a complaint about your service.” 
J. “You can’t be serious!” 
 
 
Are your answers similar or different? Discuss the different ones with a friend. Why do you think 
your grid is different to this one? 

    Situation 
    difficult 

 
C, F, J 

 
H, I 

Relationship Relationship 
close distant 

 
B, G 

 
A, D, E 

     Situation 
       easy 


